
KTM 450 RALLY REPLICA 2025 <2025><F9399Y8>
PRO LEVER LINKING

72846

Pos Part Number Description Additional Text Quantity

1 A58004080044 Triangle cantilever cmpl. 1.00

2 A36004083044 Pull rod preass. 1.00

3 54804034000 Bucket f. shaft seal ring 03 4.00

4 0760253270 radial shaft seal 25x32x7 6.00

5 54603036000 STOP DISK 22,2X31,7X1 6.00

6 58033097000 NEEDLE BEARING HK 2216 6.00

7 0800001704800 Bearing sleeve 17x22x48 2.00

8 A46004134000 Bucket for shaft seal ring 2.00

9 0618222812 Needle bushing HK2212V 22/28/1 1.00

10 0800001002501 Bearing sleeve 10x22x24.5 1.00

11 0760222841 Radial shaft seal G22x28x4 2.00

13 0800001708900 Bearing sleeve for pull rod 1.00

14 54804038000 Nut with flange M16X1,5 WS=19 2.00

15 A46004085100 Triangle cantilever pin M16x1. 2.00



16 A46004084000 Pin pull rod M14x1.5 1.00

17 0910001601300 Hex nut flange M16x1.5 SW19 1.00

98 A46004080010 repair kit triangular cenitlev 0.00

99 A46004083010 repair kit pull rod 0.00


